Foundations of Math 11

Section 6.3 — Practice Questions

1. Match the zeros of each function on the left with the solutions on the right
fO) = (x —1)? x =\ ?
gty =x*-1 e ) (e -1 1
h(x) =x*+1 w0 passibls —— =1,1

2. Match the zeros of each function on the left with the solutions on the right

f(x) = (2x —1)? _|2_ No Roots
g(x) = 4x* -1 N 1
* 2
h(x) = 4x%>+1 11
N9 ReoTS =53

3. Match the x — intercepts of each function on the left with the solution on the right

f(x)": 4x2 -9 + 3 No i;iferceptg
__ 2
g(x) =4x*+9 1
wo uéeca.ﬁs 2
h(x) = 4x2 —12x + 9 ~ 3
Y
S S—_—
i(x) =4x*+12x+9 _; -2
o}
EOEC - 7
Jx) =9x* -y ty =7
e 3 e
fe(x) = 9x% + y? Y
Mo TNTERUEETS 3
T e . 7
~+ 33
3
[(x) = 9x2 + 6xy + y? _'¥_ B
3
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Foundations of Math 11

Solve each quadratic equation by factoring. Check your solutions.

) x2-3x=0
X(x%)

v=0
x=3

[T

Check Solutions:

0=3(0):0 VvV
3'-3(3):=0 VvV

_________________________________________________________

Q 2x2—-x—-6=0

AC: xtex =12 = (x-ﬁl_)(w-})
2 2
w22 3
. (#-2D2x+3
z

Check Solutions:
AD-2-6:=0V
23 -(H)-6 20

8y 2x-1D(Bx+2)=24
bt Yy —2y -2 ~2H= 0
Q)E +y-26 = O

2 - \
v Ak ~1S6 20 o (e o13)x-12)
=13 /.2 ° s

_ Check Solutions: (Gx * ‘-’5)()‘ N Z:}
Lz(—%) N[3C2) D) -4 v
(3. () -NEE ) 20 =0

'5) 222-32=0

- 9(2*16) =0

2(z2+4)(=2-4) =0
2=-H
2= 4

Check Solutions:

-4’30

U320 g

iq) 6x? —11x = —

X =llx +3 20 A ' —lix+18

=3 »= 4 ¥-DG-)
€ 3
(?—"'3)(31-‘)&‘ Qt—l?_)(x,%)

Check Solutions:

DB ov
MO QRS

_________________________________________________________

C[) 5x? = 8x
5)3*'6&"/0 ¥z 0O
w(5x-8)=0 ¥° ‘a/g—-

Check Solutions:,

Sk = 8¢s) v

S8 = 8(%)

32

Adrian Herlaar, School District 61

www.mrherlaar.weebly.com



Foundations of Math 11

10} 12y2 =4y =5

lZy Hy—s’o—»y }yéoo

2% v s
\)
Ly-Dy+y = (-5 L)

Check Solutions:

12(%)-4(%)-5 20 v
\Z(-L)- YD) -§=0

'l . =6 ~ =0
L Y |
I -Bx+2x-As 30~ 6
3(»(-5)(;(»1): < I

x=3 x=—|

Check Solutions:

BEO- LN —q=6
X3) —4Gy-q =0

St w1} = S-0)
S

- 2
3‘1‘)( —Y :—S-;(——

<648 > (-0(e-2)

Y 2x2 +12x = —10
23+ 1210 = O f 2(+)x )26
2(><7'+6><+§):O

x=-S

K=

Check Solutions:

2('§>l«l?,('§> 2020 v
'2(’\3.2-«-\1(-\\ 410 =0 /

|3§ 10x? — 23x = —12

'O)( B+l =20 (5;(""0(&,(—'3) =Q
" bt - 20
! ¥ = 23x %0 e %—
CX (;c l&) = QO
o NE 3/1,

6%

Check Solutlons

-

\o(‘%) _BC%@SHZ,:C) v

IO(B/Z)I—' 23( % )J.-kl = v

____________________________________________________________________________________________________________________

3-3x = Bx f’/}é({_33><¢-%)
3 4Bx-320 | (x+D(3c-V)

xoHt =22 (¥*q>&,l) 2 O ¥=-3
Check Solutions: Check Solutions: X = J%
L 4-5=0 - 5_,1___('3):%/’/
o 3 ;
] -~ ‘ N IR R
_3 4 -€=20v LT3 7 v
21 5 3
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